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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1)

2)
3)

4)

5)

TdigTelf WEUYW U UYH UF W ATHIG AHaEa: o |

Candidate must write first his/ her Roll No. on the question paper
compulsorily.

qHt ¥ g HE A F |

All the questions are compulsory.

ek U T ST &1 T IT-YiEaeht | g o |

Write the answer to each question in the given answer-book only.

7 To H§ Sraiies @uE g, 37 @ & IW Uk a1y @ 1)

For questions having more than one part the answers to those parts are to
be written together in continuity.

99 U o Twat @ 3T ®UTaR H ToRet TR ht e / o’ / Torieanyme g W &=t
WIST & U9 T WL 7|

If there is any error/ difference/ contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.
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6) U WEAT 3k UdH U

1-13 1
14 - 24 2
25 - 27 3
28 - 30 4

Q. Nos. Marks per question

1-13 1
14 - 24 2
25 - 27 3
28 - 30 4

7)  uea wares 21, 27, 28,29 9 30 § staes fawed g
Question Nos. 21, 27, 28, 29 and 30 have internal choices.
Qug - A
SECTION - A

1) T w gregea fora gewr = enfveas 3@ 22

At low temperature hydrogen is which type of molecular solid? [1]

2) AT U Ueheh hiTSehT oh Ueh ULHTU] ST fohaT W STeda | Ueh T3 Usheh ISRt &
Haferd @ar g ?

How much part of an atom of the primitive cubic unit cell actually belongs to a
particular unit cell? [1]
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3)

4)

5)

6)

7)

8)

9)

10)

3
"Ag Br" # W%whet 51w fora omam & fewermum | Seuw g 27

Dislocation of which ion in "Ag Br" develops Frenkel defect? [1]
I A9 ATd A T g3 forRau|
Werite the formula to calculate the mole fraction? [1]

S § TIHTZHh 3T o ToTU dT=e gt T[UTIeh o1 W TohaT ERTT?

What will be the value of Van't Hoff factor for ethanoic acid in benzene? [1]

HH AT W A G ferea § W@ AT U o BT 8 7

What happens when a raw mango placed in concentrated salt solution? [1]

Wifaer AT S Tl &% FROT IAF a1 g ?

Due to which forces physisorption arises? [1]

= et Y /U AT % TheeA | FHUH QAT @ ShH W SHATEdd shifery ?
Na*, Al*, Ba*™

Arrange the following ions according to their flocculation power in the
coagulation of negative sol.

Na*, Al*3, Ba* [1]
S 1 TsRAUT dea AT AE WET =T g Y

Why zinc is not a transition element? [1]
TMATH Teehlgict & Ao & fora Soft & =ifires =m0 SITd 27

Which series of compounds can be prepared by oxidation of primary alcohols?

[1]
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11) &@ 9geTeh T 6 qgeTeh hl TR fe7Rag ?

Write definition of homo polymer & co-polymer? [1]

12) T TTE b ATELISA oh WIFHTSE ICRE hi JUTEATH | TN TgeTehd | T ATed TgeTeh
et suam sitenfire W a9 | fFa strar 2, & a9 &7 et aHteRr i)

Write the chemical reaction to prepare, that polymer which is used to preparation
of industrial fibers by addition polymerisation of nitrile containing three carbon
atom in presence of peroxide catalyst? [1]

13) S T o ToTT T TUeiia TATgehical o SATdiNard dared o forareass wqg o1 [UPAC
g fariau|

Write the IUPAC suffix of that functional group of the compound which is used
to prepare dacron other. [1]

Qs - o
SECTION - B

14) 0.15 mol L' NaCl farea= & W Uk =Tetehdl T &1 Uiader 50 Q g afe & 9«1 &1

gferer 0.02 mol L NaCl farem s @ 500 Q@ v av 0.02 mol L NaCl e
1 =TeteRar A shitstg] (0.15 mol L' NaCl fareram <ht =mererar 1.5 s/m 1)

Resistance of a conductivity cell filled with 0.15 mol L' NaCl solution is 50 Q.
If resistance of the same cell when filled with 0.02 mol L' NaCl solution is 500 €2
calculate the conductivity of 0.02 mol L' NaCl solution. (The conductivity of
0.15 mol L' NaCl solution is 1.5 s/m). [2]
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15) 0.001 mol L' uffes st it wmetshar 5x1075 s cm™! 21 afe ufafesw e & fow 20
T A 250 s cm? mol™ g a1 gEeh feaa feories w1 W Aa hifsre ?

The conductivity of 0.001 mol L™ acetic acid is 5x10° s cm™!. Calculate it's

dissociation constant if A° for acetic acid is 250 s cm? mol'? [2]

16) fareram graken @ AferenwuT sl THTEA | 39 U sitavaes wrrefores aHteRtur ferau ?

Explain adsorption from solution phase? Write Freundlich equation related to
it? [2]

17) foega stuaet fafer & ara 61 e e foham SmaT 37 oTTayareh THieiun shl |gmEaT |
AT ?

How copper is refined with electrolytic method? Explain with necessary reaction?

[2]

18) worm WhHUT LTgatt
THAUT T AT o TT TS Afeed AR I Y Tgfd o HRUT i THTE ?

Explain colour & complex formation tendency of transition metal ions?  [2]

19) = o @ geifes qon i T aTe IRTehRT Tl STerT— e shifeig ?

i) K, [Fe(CN)] ii) [Co(NH,).,(CO,)ICl

iii) K [Zn(OH),] iv) [Pt(NH,),CI(NO,)]

Classify the following into homoleptic & heteroleptic complexes? [2]
i) K, [Fe(CN)] ii) [Co(NH,).(CO,)ICI]

iii) K, [Zn(OH),] iv) [Pt(NH,),CI(NO,)]
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20)

21)

22)

23)

24)

6
[Ti(H,0) ]** ¥t o St T i sarean fohted o fagra & am W Sik|
2 6

Explain the violet colour of [Ti(H,0),]** complex on basis of the crystal field
theory? [2]

SN! arfirfsrat =t stora Sergvor At wgEaT @ quesmEs ?
srora

AE (Seaw) Fram o 37 2-simaeea ® faetom srfWfsean = swemea ?

Explain SN! reaction with appropriate example.
OR

What is Saytzeff (Zaitser) rule? Explain elimination reaction in 2-bromopentane.

[2]

W Fearge it et ufeeumam & ufe o frameiter 2t 31 ot ? wwarsd|

Explain why aryl halides are less reactive towards nucleophilic substitution
reactions? [2]

WHEH T § ST eSS TUg Ufedhed OUg | T2 eSS OUg | 3T et
BT 3 ol WSS ?

Explain why hydroxyl group attached to an aromatic ring is more acidic than
the one in which hydroxyl group is attached to an alkyl group? [2]

foreforam Tt sfRe w qt SR

#) CH,CH,OH —%

413K
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&) (CH,),C—OCH, +HI —

ONa

) @ +R-X—

OCH,
7) @ —mo—

Complete the following chemical reactions: [4x)2=2]

a) CH,CH,OH —1s% ,

413K

b) (CH,),C-OCH, + HI -

ONa

C) @ +R-X—>

wos - ¥
SECTION - C
25) 31) TUfcehel TATSSI o STHIAT TGS T 31T AT WA § THHHeh AHIRI0T SRTU|
) ag srfufran fefau Rt suei e & forg foman s 21
i) uHe Suft & emgor @
i) TUHTEE ¥ UHh hiad HH qTet THIFA YAl ||
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26)

27)

b)

8
What do you mean by amonolysis of alkyl halides give chemical reaction?

Write that reaction which is used for following.
1)  Ascent of amine series.

11) To synthesis amine containing one carbon less than that of in the
amide.

[1+2=3]

AT Tehtse ford g g ? uftwman forfau)
i) DNA & Yul JeT 3{qeied © UTH g a1l At & 9w forfRau)
ii) DNA ua RNA 270] # Sufedrd yehl STT9 3ehT3 oh el 93 Tafan)|

foret gee ® gaw o IR i uga™ & &% T DNA & wratea fafer 7w
icid

What are monosaccharides? Write the definition?
1)  Name the products yields from the complete hydrolysis of DNA?
11)  Write the structural formula of sugar moiety in DNA & RNA?

Write the name of method related with DNA to identify the dead body in
any accident?

[Va+1+1+Y2=3]

9T Tohe whgd 3 ? ToRel Teh e uvTiaek o1 A foiiau|
W UfRere 8 & wd §| W I &1 Ueh IS0 SIfg)
ST A e # w5

sAat

aitwy w1 fafirs ATUEEr & AR fohad YRR & SffeRtor ot Hehd g ? Tk T ATH
foafau|
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28)

9

wfafeeeria form werr el et 37 TRt we wifeeedia 1 serewor dif)
Toreht wen fagremes anfesie 1 s=AT g fafau)

What tranquilizers? Write the name of any mild tranquilizer?

How food preservatives works. Give an example of food preservative?
Why do soaps not work in hard water?

OR

How drugs can be classified according to different criteria. Write the name
of each?

How antihistamines works? Give an example of any antihistamine?
Write the structural formula of any sleep producing barbiturate?

[1+1+1=3]

@ us - g
SECTION - D

AfTRaT o T T THTTA HE 9T ek i hid & g ? a1 fam & afewmn
feRam)

I hiTe i AfHTRaT & fotu a1 feeris @1 99 sgeua i)
HTHIUT FHsTl TR Ik ok THTE <hl SN ATAT ANG TS |
Fuat

BgH TAH whife i ATalhan hE wgd 87 38 kT T UTdamA fohE TR Y
arfirfera 2 ? Tamate artetor fofan)

Tom hife 6 T tfufshan o1 o feerie 5x 1074 57! g at 3| erfufshan it sty
Fa shifsu)

ATETE FHRUT & MR W In K w8 1/T & AeT i@ a8 |
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29) a31)

a)

b)

C)
d)

10
What are the factors which effect the rate of a chemical reaction?

Derive the rate constant formula for zero order reaction?
Draw a diagram showing effect of catalyst on activation energy.
OR
What is pseudo first order reaction? Inversion of cane sugar is which type
of reaction. Write it's chemical reaction?

Calculate the half life of the first order reaction whose rate constant is
510714 s71,

Plot a graph between In K & 1/T on the basis of Arrhenius equation.
[1V2+1+1V2=4]

AMHER FAREE ¥ e 9= &y faftr ot e arften fofan)
Cuqem Ag" o i uge & forg NH, & s1goam & aematies gt
ferftam)
AT Ieuted & foru awifeRa wame fomr saTEa|
Jrera
Tow SEATFITES A9 T <kl itenfies fafr—er tamatie gt fafRau)
¥ grat g S SO, &l 91 W vaTga feRan s 22
oW TTEATHATSE o AT TUT kT TSHia i areit arfifsean forfau|
oWl & TTHeane MUY & g™ 1 AT TR s sATga|

Write a chemical equation to prepare ammonia from ammonium chloride?

Write a chemical equation to identify Cu*? & Ag* ions with the application
of NH,?

Draw a labeled diagram showing flowchart for the manufacture of ammonia?
[1+2+1=4]
OR

Write the chemical equation to prepare sulphur dioxide from industrial

method?

What happens when SO, is pass through water?

Write reaction showing reducing property of sulphur dioxide?

Draw a labeled diagram showing ring structure of rhombic sulphur?
[1+1+1+1=4]
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a)
b)

C)
d)

11
Zier Tdigur fore og i uge™ g SUERT @ ST WTan @7 TEEiae qHien
US L
FAHEA TUTIA TS deF Ry TT=E | i Ueh A= feiRau|
e ATHTRAT i TETATS THIHUT 6 TgEar § aHgsd|
HEAA TUg a1 g wefig s sATEd |
Jrera
HIAFIE T hl ATATE! TEAT ST
= =t g A < et e fofau:
i) firaw sftrwds @ wEifeatees o
ii) ufaer a=iue | a=gs T
i) d=TIgeh AFA W IITHISS
2 - UTfiHTgR 3T W STIATE HIEHATE S TS |
ufeegree, g T waifaaieieh 37 | & fade = ?

For which group identification Tollens test is used. Give chemical equation?

Give one difference between Clemmensen reduction & Wolff Kishner
reduction?

Explain aldol reaction with chemical equation?

Draw orbital diagram for the formation of carbonyl group?
OR

Give resonating structure of carboxylic group?

Give chemical reaction to obtain the following.

1)  Carboxylic acid from Grignard reagent.

i1) Benzoic acid from ethyl benzoate.

1i1) Benzamide from benzoic acid.

Give resonating structures of propenoic acid?

How will you distinguish aldehyde, ketone & carboxylic acid.

[1+1+1V2+Y2=4]

IR IEY
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